PUR-1362 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION	1			& T. Co., Inc. rstown, MD		CATO, Inc. Salisbury, MD				
	Item	A OPIS Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.554	\$0.1815	\$1.7355	64,387	\$111,743.64	N/A		64,387		
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	\$0.1815	\$1.8467	8,500	\$15,696.95	N/A		8,500		
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I			\$1	27,440.59						
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.554	\$0.0275	\$1.5815	208,000	\$328,952.00	\$0.0159	\$1.5699	208,000	\$326,539.20	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	\$0.0275	\$1.6927	194,926	\$329,951.24	\$0.0159	\$1.6811	194,926	\$327,690.10	
	Total Sum Gasoline Transport Deliveries as Described in Section II			\$6	58,903.24			\$654,229.30			
III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.1715	\$1.8183	62,475	\$113,598.29	N/A		62,475		
IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0300	\$1.6768	676,213	\$1,133,873.96	\$0.0173	\$1.6641	676,213	\$1,125,286.05	

1

OPTION 1	A.C. & T. Co., Inc. Hagerstown, MD	CATO, Inc. Salisbury, MD			
Winter Chemical Additive Protection (cost per gallon):	\$0.0400	\$0.0350			
Winter Chemical Additive Protection Product Name:	Legal Diesel Additive 1400 LHF	Legal Desiel Fuel Additive 1400 LHF			
Manufacturer's Name:	Innospec	Innospec			

PUR-1362 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 2				& T. Co., Inc. rstown, MD			CATO, Inc. Salisbury, MD			
	Item	A OPIS Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540	\$0.1790	\$1.7330	64,387	\$111,582.67			64,387	\$0.00	
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	\$0.1790	\$1.8442	8,500	\$15,675.70			8,500	\$0.00	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540	\$0.0260	\$1.5800	208,000	\$328,640.00			208,000	\$0.00	
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	\$0.0260	\$1.6912	194,926	\$329,658.85			194,926	\$0.00	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.1690	\$1.8158	62,475	\$113,442.11			62,475	\$0.00	
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0285	\$1.6753	676,213	\$1,132,859.64			676,213	\$0.00	
	OPTION 2 Total Sum Bid of All Sections 1-4)		\$2,0	031,858.97				\$0.00			

OPTION 2	A.C. & T. Co., Inc. Hagerstown, MD	CATO, Inc. Salisbury, MD
Winter Chemical Additive Protection (cost per gallon):	\$0.0400	
Winter Chemical Additive Protection Product Name:	Legal Diesel Additive 1400 LHF	
Manufacturer's Name:	Innospec	

NOTES: A.C. & T. - None

CATO, Inc. - None

*Corrected Calculations based on Bidder Factor Provided.

	OPTION 1				(USA), Inc. umbia, MD		Mansfield Oil Company of Gainesville, Inc. Gainesville, GA			nesville, Inc.	
		A	В	C OPIS Price	D	E	В	C OPIS Price	D	E	
	Item	OPIS Price as of 08-24-17	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540			64,387	No bid	\$0.3141	\$1.8681	64,387	\$120,281.35	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652			8,500	No bid	\$0.3295	\$1.9947	8,500	\$16,954.95	
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I				\$0.00			\$137,236.30			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540			208,000	No bid	\$0.0364	\$1.5904	208,000	\$330,803.20	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652			194,926	No bid	\$0.0198	\$1.6850	194,926	\$328,450.31	
	Total Sum Gasoline Transport Deliveries as Described in Section II						\$659,253.51				
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468			62,475	No bid	\$0.3041	\$1.9509	62,475	\$121,882.48	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0124	\$1.6592	676,213	\$1,121,972.61	\$0.0569	\$1.7037	676,213	\$1,152,064.09	

OPTION 1	IPC (USA), Inc. Columbia, MD	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA				
Winter Chemical Additive Protection (cost per gallon):	\$0.0200	\$0.0250				
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000	ColdPRO				
Manufacturer's Name:	Schaffer Manufacturing	Arsenal				

PUR-1362 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 2				(USA), Inc. ımbia, MD		Mansfield Oil Company of Gai Gainesville, GA			nesville, Inc.
	Item	OPIS Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540				No bid	\$0.2941	\$1.8481	64,387	\$118,993.61
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652				No bid	\$0.3095	\$1.9747	8,500	\$16,784.95
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540				No bid	\$0.0339	\$1.5879	208,000	\$330,283.20
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652				No bid	\$0.0173	\$1.6825	194,926	\$327,963.00
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468				No bid	\$0.2841	\$1.9309	62,475	\$120,632.98
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468				No bid	\$0.0544	\$1.7012	676,213	\$1,150,373.56
	OPTION 2 Total Sum Bid of All Sections 1-4)			\$0.00			\$2,00	65,031.29 *		

OPTION 2	IPC (USA), Inc. Columbia, MD	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA
Winter Chemical Additive Protection (cost per gallon):		\$0.0250
Winter Chemical Additive Protection Product Name:		ColdPRO
Manufacturer's Name:		Arsenal

Notes:

IPC (USA), Inc. - None

Mansfield Oil Co. of Gainsville, Inc.

The following taxes are not included in the bid differential, but if applicable, will be shown as line items on your invoice:

<u>Diesel:</u> <u>Gasoline E10-Reg & E10-MID</u>

Federal Lust - \$.001/gal Federal Lust - \$.001/gal

Federal Oil Spill - \$.00214/gal Federal Oil Spill - \$.001926/gal

	OPTION 1				Petroleum, In Airy, MD	c.	Papco, Inc. Aston, PA					
		A	В	C	D	E	В	C	D	E		
	Item	OPIS Price as of 08-24-17	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)		
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540			64,387					No bid		
Dec.	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652			8,500					No bid		
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I				\$0.00				\$0.00			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540	\$0.10	\$1.654	208,000	\$344,032.00	\$0.0116	\$1.5656	208,000	\$325,644.80 *		
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	\$0.10	\$1.7652	194,926	\$344,083.38 *	-\$0.0077	\$1.6575	194,926	\$323,089.85 *		
	Total Sum Gasoline Transport Deliveries as Described in Section II			\$68	8,115.38 *			\$648,734.65 *				
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468			62,475					No bid		
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.10	1.7568	676,213	\$1,187,971.00	\$0.0235	\$1.6703	676,213	\$1,129,478.57 *		

OPTION 1	Metro Petroleum, Inc. Mt. Airy, MD	Papco, Inc. Aston, PA		
Winter Chemical Additive Protection (cost per gallon):	\$0.0400	\$0.0250		
Winter Chemical Additive Protection Product Name:	Diesel Treat 137-B Fuel Conditioner	Antigel - 3000 - CF		
Manufacturer's Name:	Schaeffer Oil	C & S Scientific		

	OPTION 2				Petroleum, In Airy, MD	c.	Papco, Inc. Aston, PA			
		Α	В	C	D	E	В	C	D	E
	Item	OPIS Price as of 08-24-17	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540			64,387	No bid				No Bid
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652			8,500	No bid				No Bid
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540			208,000	No bid				No Bid
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652			194,926	No bid				No Bid
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468			62,475	No bid				No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468			676,213	No bid				No Bid
	OPTION 2 Total Sum Bid of All Section Totals (Sections 1-4)				\$0.00				\$0.00	

OPTION 2	Metro Petroleum, Inc. Mt. Airy, MD	Papco, Inc. Aston, PA			
Winter Chemical Additive Protection (cost per gallon):	\$0.0400	No Bid			
Winter Chemical Additive Protection Product Name:	Diesel Treat 137-B Fuel Conditioner				
Manufacturer's Name:	Schaeffer Oil				

Notes:
Metro Petroleum, Inc. - None

Papco, Inc. - None

PUR-1362 Bulk Gasoline and Diesel Fuel Deliveries

	OPTION 1			Petroleum Traders Corporation Fort Wayne, IN				Pinnacle Petroleum Huntington Beach, CA			
	Item	A OPIS Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540	\$0.3200	\$1.8740	64,387	\$120,661.24				No Bid	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	\$0.3200	\$1.9852	8,500	\$16,874.20				No Bid	
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I		\$137,535.44				\$0.00				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540	\$0.0088	\$1.5628	208,000	\$325,062.40				No Bid	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	-\$0.0112	\$1.6540	194,926	\$322,407.60				No Bid	
	Total Sum Gasoline Transport Deliveries as Described in Section II		\$647,470.00			\$0.00					
III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.3200	\$1.9668	62,475	\$122,875.83				No Bid	
IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0365	\$1.6833	676,213	\$1,138,269.34				No Bid	

OPTION 1	Petroleum Traders Corporation Fort Wayne, IN	Pinnacle Petroleum Huntington Beach, CA	
Winter Chemical Additive Protection (cost per gallon):	\$0.0250		
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#13ULSSW)		
Manufacturer's Name:	Schaffer Manufacturing Company		

PUR-1362 Bulk Gasoline and Diesel Fuel Deliveries

OPTION 2		Petroleum Traders Corporation Fort Wayne, IN				Pinnacle Petroleum Huntington Beach, CA				
	Item	A OPIS Price as of 08-24-17	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540	\$0.3200	\$1.8740	64,387	\$120,661.24	\$0.4900	\$2.0440	64,387	\$131,607.03
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652	\$0.3200	\$1.9852	8,500	\$16,874.20	\$0.4900	\$2.1552	8,500	\$18,319.20
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540	\$0.0088	\$1.5628	208,000	\$325,062.40	\$0.0540	\$1.6080	208,000	\$334,464.00
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	-\$0.0112	\$1.6540	194,926	\$322,407.60	\$0.0540	\$1.7192	194,926	\$335,116.78
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.3200	\$1.9668	62,475	\$122,875.83	\$0.4900	\$2.1368	62,475	\$133,496.58
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0365	\$1.6833	676,213	\$1,138,269.34	\$0.0560	\$1.7028	676,213	\$1,151,455.50 *
	OPTION 2 Total Sum Bid of All Section Totals (Sections 1-4)			\$2,0	046,150.61			\$2,10	04,459.08 *	

OPTION 2	Petroleum Traders Corporation Fort Wayne, IN	Pinnacle Petroleum Huntington Beach, CA		
Winter Chemical Additive Protection (cost per gallon):	\$0.0250	\$0.03		
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#13ULSSW)	CFI (Cold Flo Improver)		
Manufacturer's Name:	Schaffer Manufacturing Company	Innospec		

Notes:

Petroleum Traders Corporation - None

Pinnacle Petroleum - None

	OPTION	Truman Arnold Companies dba Tac Energy Dallas, Tx				
		A	В	C	D	E
	Item	OPIS Price as of 08-24-17	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540				No Bid
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652				No Bid
	Total Sum Gasoline Tanl Deliveries as Described in	\$0.00				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540	\$0.0710	\$1.6250	208,000	\$338,000.00
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652	\$0.0209	\$1.6861	194,926	\$328,664.73
	Total Sum Gasoline Transport Deliveries as Described in Section II		\$666,664.73			
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468				No Bid
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468	\$0.0516	\$1.6984	676,213	\$1,148,480.16

OPTION 1	Truman Arnold Companies dba Tac Energy Dallas, Tx
Winter Chemical Additive Protection (cost per gallon):	\$0.0350
Winter Chemical Additive Protection Product Name:	Legal Diesel Fuel Additive 1400 LHF
Manufacturer's Name:	Innospec

	OPTION	Truman Arnold Companies dba Tac Energy Dallas, Tx					
		A	В	C	D	E	
	Item	OPIS Price as of 08-24-17	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.5540				No Bid	
I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6652				No Bid	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.5540				No Bid	
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.6652				No Bid	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.6468				No Bid	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.6468				No Bid	
	OPTION 2 Total Sum Bid of All Sections 1-4)			\$0.00			

OPTION 2	Truman Arnold Companies dba Tac Energy Dallas, Tx
Winter Chemical Additive Protection (cost per gallon):	N/A
Winter Chemical Additive Protection Product Name:	N/A
Manufacturer's Name:	N/A

Notes:

Truman Arnold Companies dba TAC Energy

Accessorial delivery charges are due as follows: Split fee - \$45.00, Demurrage - \$80 per hour after 1 hour.
All prices assume payment terms of Net 20 Dod via EFT/ACH
Offer is subject to TAC's general terms and conditions